

## Central University of Punjab, Bathinda-151401.

(Established vide Act No. 25(2009) of Parliament)

### Department of Psychology

Ref. No. CUP/PSY/01-09-2022/166

Date: 01/09/2022

#### Minutes of 17th AAC

The fourteenth meeting of AAC of the department was held at the department on 1<sup>th</sup> September, 2022 at 2.00 pm. HOD welcomed all faculty and taken the agenda for the discussion. The minutes of the meeting are as follows:-

Agenda 1: Short listing of 2022 PhD applications.

**Resolution**: As per the notification eligibility conditions of PhD only one candidate is found eligible to appear for 'Personal Interaction' and all others do not have NET or UGC-JRF/any other fellowship. It is resolved to make Non-NET students to write University Entrance Exam.

Agenda 2: Observing World Suicide Prevention Day 2022.

**Resolution**: After long deliberations on this, it was decided to convene students meeting and discuss the same with the students. Schedule of the program will be prepared as per the final discussion with the students.

**Agenda 3**: Allotment of Supervisors for research/Dissertation for 2021Batch students.

**Resolution**: It was decided to follow random selection of supervisor as per the vacancy available among the permanent teaching faculty. Three students were allocated to each faculty except the one who will accommodate four students. After completion of all examinations (on 2-9-2022) students will be allowed to select their supervisor randomly and the selection list will be notified.

Agenda 4: Laboratory equipment/tests/tools reg.

**Resolution**: The recommendations of each faculty have been scrutinized on the basis of the immediate course/ curricular requirement and usefulness to undergo the various research activities during the course. The final list



# Central University of Punjab, Bathinda-151401.

(Established vide Act No. 25(2009) of Parliament)

# Department of Psychology

consists of 41 items to be procured immediately as per the budget allotment. The entire list is enclosed herewith.

Dr. S. Jeyavel

Dr. Anugraha Merin Rajan - on Matern

Dr. Shubhdip Kaur

Dr. Sajad Ahmad Najar

Dr. Rebeka Debbarma

- S J, 19/2022 - on Maternity leave

- on Materinty leave

S. No.	Equipment/ Instruments/ Tools name	Descriptions	Quantity required	Estimated Cost	Amount
1	Beck Anxiety Inventory	BAI Manual, 25 record forms	1	10000	10000
2	Beck Depression Inventory (BDI)	BDI Manual, 25 record forms	1	2000	2000
3	Beck Youth Inventories- 2 (BYI-2)	Test kit consisting of depression inventory, anxiety inventory, anger inventory, disruptive behavior inventory and self- concept inventory.	1	8,000	8000
4	Bender Gestalt Test	The Bender-Gestalt II test consists of a series of durable template cards, each displaying a unique figure. The examinee is asked to draw each figure as he or she observes it	I	25000	25000
5	Bhatia's battery of performance test of intelligence	Manual, Record Forms(Pack of 50), Koh's block design test, Alexander's pass-along test, Pattern drawing test, Immediate memory and Picture construction test.	4	6000	24000
6	Binet Kamat Test of Intelligence	1 Manual, Response Sheet (Pack of 25) and Cards and Performance Material.	3	4000	12000
7	Child Behaviour Checklist	includes 50 checklists and Manual	1	6000	6000
8	Davis battery of differential abilities	1 set contains manual, 10X7 question booklets, 100 consumable booklets for PM, scoring stencils,100answersheets,100 ability graph sheets	1.	5775	5775
9	Developmental Screening Test	By J Bharat Raj, suitable for childre (birth- 15 years)	1	1200	1200
10	Digital Stress Thermometer	Digital Stress thermometer and user's manual	1	5,000	5000
11	Division of Attention Box	consists of a wooden boxwith a circular and triangular groove with a metallic contact	3	5000	15000
12	Draw A Man Test	By Pramila Pathak, suitable for children (4- 13 years)	1	2500	2500
13	Dyslexia Screening Test, Indian Norms	ISBN: 9789380862552	1	11000	11000
14	E-Prime Software	A software (in the form CD); License for 1 user	1	200000	200000
15	Electronic Tachistascope	One apparatus and stuimulus cards	1	15000	15000
16	Galvanic Skin Response- 2 (GSR2) Biofeedback relaxation system	GSR unit (including Myo Trac/ Dac Earphone, Cassette, User's Manual), GSR2 Temperature sensor (including Myo Trac/ Dac Earphone, Cassette, User's Manual),	1	35,000	35000
17	Habit Interference Board	Card Sorting tray, 52 cards and user's manual	1	1,100	1100
18	High quality mechanical stopwatch Mechanical	Hand held mechanical stop watch	1	6000	6000
19	Knox Cube Imitation Test	1 Set consists of 6 wooden cubes in a plastic box	1	1000	1000
20	Malins Intelligence Scale For Indian Children	Manual, Record Form (Pack of 25), Maze Test (Pack of 25), Coding Sheets (Pack of 25), Block Design, Picture Assembly and Picture Cards	1	15,000	15000
21	McDoughal Disc	McDoughal Disc and user's manual	3	2,000	6000
22	Mini Mental State Examination	MMSE-2 User's Manual, 25 MMSE-2:SV Blue Forms, 25 MMSE-2:SV Red Forms, 10 MMSE-2:BV Blue Forms, 10 MMSE-2:BV	1	17,500	17500
23	Mirror drawing apparatus with Electronic Digital Reset Error Counter with Timer	A metal star on a wooden box with a mirror and an adjustable screen with Electronic	3	10000	30000

24	Muller Lyer Illusion	With metal Stand, Scale and Manual	1	4000	4000
25	NEO Five-Factor Inventory-3	NEO Inventories Professional Manual, 25 NEO-FFI-3 Form S Adult Item Booklets, and 25 Your NEO Summary Feedback Sheets	1	22000	22000
26	Passi Test of Creativity by B.K. Passi (Hindi/English)	1 Set includes Performance materials, 25 reusable question booklets, scoring key, 100 answer sheets and a manual	1	5000	5000
27	PGI Memory Scale	1 Set includes 100 consumable booklets and manual	1	2000	2000
28	Raven's Educational CPM/CVS Indian Edition	Complete Package of ISBN 9789380862576	1	18000	18000
29	Raven's Standard progressive Matrices, Indian Edition	Complete Package of 9780749163815	1	15500	15500
30	Repeatable Battery for the Assessment of Neuropsychological Status Update (RBANS® Update)	Test kits pertaining to five cognitive domains (Immediate Memory, Visuospatial/Constructional, Language, Attention, and Delayed Memory) and user's manual	T	26,000	26000
31	Rorschach inkblot test	Rorschach Ink Blot Test is a complete kit that includes Manual, Rorschach Psychodiagnostic Test Plates, Record and	1	22000	22000
32	Sport Competition Anxiety Test (SCAT, By R. Martens, 1977)	Test kit and user's manual	1	5,000	5000
33	Stop Watch Digital	Hand held digital stop watch	10	1000	10000
34	Thematic Apperception Test	Includes 31 Picture Cards (Print) and Manual (Print)	1	8000	8000
35	Tweezer dexterity	made of plastics in a rectangular from, containing hundred wholes in ten rows, ten wholes in each rows material 150 pins a	1	6500	6500
36	Vineland Social Maturity Scale	1 Manual and 100 Response Sheets.	1	1400	1400
37	Wechler's intelligence Scale for Children, Indian Norms	Complete Package of ISBN: 978938086526	1	75000	75000
38	Wide Range Achievement Test, Fifth Edition- India (WRAT 5 - INDIA)	Test kit and user's manual	1	5,000	5000
39	Woodcock Johnson III Tests of Cognitive Disabilities	User manual, Complete kit of the battery (with all subscales), Scoring sheets.	1	50000	50000
40	Wooden Depth perception Box	Wooden Box with the movable handle to change the position of the center rod	1	15000	15000
41	Working Memory Rating Scale	User Manual and 25 record forms.	1	80000	80000
		Total			824475

S. J. R. Stanme